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XSS uY IR faweg
Q. No. Question Answer Options
1. |oftfR B gRT AU 9Rd 99, g @hd ged| A. 25.28 fHl/mm
osfirh. 3R 28 &t afER UwFT gET ©hd I Aq FRar] B. 25.14 A mm
3| IR @1 e B 0.02 A 31 AT R C. 25.56 A7/ mm
During measurement using vernier caliper, the main| D. 25.00 .7 /mm
scale reading is 25mm and the 28" vernier division
coincides with the main scale. The least count of the
vernier is 0.02 mm. The measurement is
2. | @ Iopfee Tum & R S & udsd G| A. 3 S EH /3 jaw chuck
Frafefad uely o1 Suar gar g B. ®Iae 9@ / Collet chuck
To set the work run eccentrically, the following| C. AGTgR / 4 jaw chuck
method is used to hold the job D. IWIK HIE T8l
None of the above
3. |FofifEe § S o a1 Sin o 1 uer g 8| A. STER BT 581 B
Which of the following is not a function of cutting To cool the tool
fluid B. oo ot e el
To flush away the chips _
c. Fa 3R TuRER & g § wu
DI SIGT B!
To increase the friction
‘between the chip & tool face
D. ®Td a%] & 381 HLAT
To cool the work piece
4. |EBTESEADI ....ceoe ERI §91 Sl 6 | A. $aIT / Concrete
Marking tables are made up of B. 3gfHH/ Aluminum
C. UL / Granite
D. SWRiad H Y PIS Tol
None of the above
5. U AR Wi ool orgeT sy 55/ § T HSS T | A, 190.98 SIR.ULTH/pm
Rraet ®few wihs 30 ez ufy e 3 gR1 g & fg| B. 1909.8 SR THApm
fRieqa Tie g C. 530,52 SIRULTHIpm
The spindle speed to turn a mild steel rod of diameter| D. 5305.2 R W/rpm

50mm using HSS tool with a cutting speed of 30
meter per minute is
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Q. No. Question Answer Options
6. |Gl 99T WedeR &1 dRe PI8T A 1°
The least count of vernier bevel protractor is B. 10°
C.1°
D5
7. MYAS .. R H1IT ST 8 A. TR ®Id/ Mild steel
Lathe bed is made of B. TI® e/ Cast iron
C. T8/ Titanium
D, 3gHAE / Aluminum
8. |UEE BT ®v R B A.
Side cutting edge angle is depicted in ﬁ )
ST
C.
D' \D
9, |FofuRed €@ &1 wd Si9 Bl AR ST ¥ 9 A. TS @RI/ Try square
Hia B & [AU g 8 B. WHISER/ Scriber
The following tool is used for setting the job| C. 93¢ WICHR / Bevel protractor
concentric to the machine spindle D. 9dg Tiel / Surface gauge
10, IM12 180 ARH R@ g1 &1 U 4........... &l A. 1.75@1mmm
The pitch of M12 ISO metric coarse thread is B. 1.00 f5.8/mm
C. 1.50 frdl/mm
D. 0.80 fAl/mm
1. 1a0g () R A8 &8 g9 & om g yare| A. SR/ Drilling
o IuA fSar st g B. I/ Reaming
Which operation on a lathe is used for making non| C. &I/ Boring
standard holes D. SR H AP T8l

None of the above
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Q. No. Question Answer Options
12. |Puffegd 39 G ufife g=a Rl A. PTH I §¢¢ B4
Which of the following is a positive drive Cross flat belt drive
B. AU JZd/ Rope drive
C. s g1%d / V-belt drive
D. %FTETQ’H/ Chain drive
13. | 3res) Haw e & 91y 98 SR & 6 &) 91 9| A, THR/ Reamer
31 B DI &g (oG PR I B. SIR¥ ¢/ Boring tool
The multipoint cutting tool which is used to enlarge| C. G ST/ Twist drill
and accurately size hole with good surface finish D. SWRied § I IS Aol
: None of the above
14. | 3iidiRe enival & iore, 4ial vamad 4 Ugd 96 & o0 | A, F91 o1/ Major diameter
... THH BT E1iBU B. ¥4 O/ Minor diameter
For internal threading, the hole diameter to be drilled! C. AEAa® A / Effective
before threading operation is equal to diameter
D. 3gd o / Average diameter
15, |@RIg W 3MaR® TR T & e fhw e e dfa| A, Sgea e dfa
BT IUTNT et fHar 51 G| Compound slide method
The taper turning method which cannot be used for| B. €0 e daus
internal taper turning on a lathe Taper turning attachment
C. 5 W e AR
Tail stock offset method
D. SREA AT DS T8
None of the above
16. At weded We.... FgHA ¢ A. T + a1e 39 @t T
In a multi start thread, the lead is equal to Pitch + number of starts
B. U4 /48 &t g
Pitch / number of starts
C. - A e @ gem
Pitch — number of starts
D. U9 x 9] 8F 1 &=
Pitch x number of starts
17. |\ g &3 2 - ) A =
‘ 11 2
Evaluate (E -2) B. ©
c. 2
5
D. 2

W
L
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Q. No. Question Answer Options
18. | @ifERy e § Fufefad urm ¥ o 91 - sl A. a”f?lﬁﬁf/Squarehead
A combination set doesn’t contain which of the below| B, ¥@/ Rule
part C. Wigaex ¥y
Protractor head
D, BIEE TS / Dial gauge
19, |eWR U 1:6 TG0 M1 §1 TgH W GG BivT| AL 1/6
BT ERET ..o Bl B, 1/18
The taper ratio is given as 1:6. The tangent of the| C. 1/12
compound slide swivel angle is given as | b 173
20. |PER IR Te Il & o 159 veR & {80 &1 39| A, N UBR/ Type N
fora S g1 B. HUSR/ Type H
For hard and tenacious material which type of drill is| C. S UPR/ Type S
used D. SWIG H Y D13 ol
None of the above
21. |t o o’ SR 99 o1 B 2 & o A GEH 8T T P 8 Y S
For a square of side ‘a” and circle of radius ‘a’ Area of circle is greater than
area of square
B. 1 1 &7 7 & &7 T rEl B
- Area of square is greater than
area of circle
C. %ﬁ &1 & AR 99 BT &8 T
[
Area of the square and circle
are equal
D. Wi H J BIg 78!
None of the above
22. |50, 70 3R 120 BT AW HIEH 8 A. 120
The arithmetic mean of 50, 70 & 120 is B. 240
C. 100
D. 80
23, U TR ! dis U W 4 g3 Uid 9 § 99 W] p SN /Driver 40
76" T B IS H1et I G R wqara F opguw| | Ldyorieen 70
..... g B Reworiven — 70
The change gear ratio to cut a thread of 7/16” lead on ¢, SRER/priver 70
a lathe with lead screw of 4 threads per inch * fga/priven 40
D. SR /Driver _ 70

8o

%EFI/ Driven

Page 5 of 14




TE 11 (Turner) : Series — C

04, Uy I faad
Q. No, Question Answer Options
24, 3R . %Wﬁ@g&ﬁﬁ@ﬂ%l A. WY &N / Minor diameter
3 wire method is used to measure B. 31U/ Major diameter
C. s g
Effective diameter
D. IWRIad # J PIE e
None of the above
25. |Ofd D ISTHNY B SR ‘¢’ BlET AN § 9IR L FEPT| 4 @rdx L
B T § 3R 7 SR T B S Wb Mpde 7| by
i gRT o <N & R sifpde . B B =
If ‘D’ is the bigger diameter, ‘d’ is the smaller; (= o-dx1
diameter, ‘L’ is the total length of job and ‘Z* is the - X 1
taper length. The offset for taper turning by tail stock D. R
offset method is given by '
26. |Ffifed #9999 IR urg ®E? A, BTREA / Magnesium
Which of the following is the heaviest metal B. 31?1&]7-!‘33{ / Aluminum
C. dI€l/ copper
D. WS /lead
27, |U% g B Boul WS et 9 &1 710 240 f3 3| A, 1.92nm?
3R Brsar 2.4 Hiex & ) ST SFwd T g B. 11.52zm’
The area of the sector of circle that has an arc| C. 2.88nm’
measuring 240 degrees and a radius of 2.4 m D. 3.84x m’
28. [ UEYS H T SATARE BIL........ 1 A. 60°
The internal angle formed in a pentagon is B. 72°
C. 45°
D. 120°
29, R e W?{ﬁ?%l A. @/Distance
Newton is the unit of B. qld/ Pressure
‘ C. &/ Force
D. $e/ Energy
30, |[YR TR A B IF P A. BURHF | Negative
For heavier depth of cut, the rake angle is B. ¥/ Zero
C. UDHRIHE / Positive
D. SWRed 8 Y HIE T8l / None of

the above
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Q). No.

Yy
Question

IR fawey

Answer Options

31.

AR 89 & oMY & {10 g Iugad HAHE ST
The standard tool used to measure the diameter of an
internal recess '

©

gitfr BRR

Vernier caliper

gie fag offdRe ArghiHieR
Five point internal micrometer
SR TS

Dial gauge

diF farg sifaie AgeidicR

Three point internal micrometer

32,

HT: e g H @ ¥ Y ... gRISIST ol g

Generally tool bits are joined to the tool shank by

0w p

m / Adhesive
aicl:s"‘T /Welding
Tla} 99 / Silver brazing

. AR/ Soldering

33.

A S FaRE3uE T ... gdarg

Preventive maintenance of machine involves

>

afiF iR JuS0T BT g
e

periodic inspection of machine
and equipment

JATES S & TR W
lubrication as per manufacturer
instructions

7l % SfaRin oik o Aea
servicing & overhauling of
machines

TRl gt

all of the above

34.

Ufgers ] ufeuTe 81

Stress is defined as

TS x YR HIT BT GABA

Load x area of cross section

g x YHY
Force x time

El?’fxfc\"\?f

Force x distance
TS / YR PIC BT &Ah

Load / area of cross section

35.

YIq B! PICd YU AFDG AS B URIY B B
Al F OB HEd 8|

The property of a material to resist sudden load during
metal cufting is termed as

DS gre g

Cold hardness

TS gre

Red hardness
THAY

Toughness

Brittleness

Page 7 of 14




TE 11 (Turner) : Series — C

0.4, Ty TR fapey
Q. No. Question Answer Options
36. | af P TR 40 Hiet UfAfte § oIk ST WIg 0.5| A, 3.14 TFe/minutes
Ul 9ol 31 ST &1 U@ Tl ot s 400 Hiex| B. 5.41 WCminutes
3R =g 50 A & R ue gf Pe & R smamge| C. 1.25 WFciminutes
T a1 B8R D. 1.53 fBFc/minutes
If the cutting speed is 40 meter per minute and the ‘{
tool feed is 0.5 mm per revolution. The time required
for one complete cut on a piece of work 400mm long
and 50mm diameter is
37, |WMrgE: 88 ¢Y Ye # Fofafeg Ten A tugmfap gl | A. 6
Generally hand tap set consists of following number! B. 3
of taps C. 1
D. 2
38, |PRR%E A. B a%g BT ST
Follower rest Follows the workpiece
B. JUIHT BT HFHT
Follows the tool
C. WG AHYR W A
Fixed to the lathe bed
D. 30 ¥IP W e
Fixed to the tail stock
39.  |FEfafed § & o uig SRR IRl B A ST
Which of the following is a non metallic tool material High speed steel
B.
Ceramic
C. I Plad €l
High carbon steel
D.
Stellite
40. | RITR IC HERE: ............ & forg Sugea A, IR DI UHSH
A steady rest is generally used for Holding the tool
B. Gy R Udd sl g F e
fere wrgrere

Support for turning long &
slender workpeice

EEZX-EU

Eccentric turning

ST qK DI KA

Clamping of workpeice

Page 8 of 14




TE 11 (Turner) : Series —C
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Q. No. Question Answer Options
4], |FufRed @ Jug R Y yafdag 2 A. Sl / Jamno
Which of the following terms are associated with| B. TR/ Morse
taper C. 137 99Y/ Brown & Sharpe
D. Wi 94/ All of the above
42, [9T@ e, BT gl A, GO x 3T
Density is defined as Mass x volume
B. qoUH / ATddH
Mass / volume
C. GHM + 3dq
Mass -+ volume
D. A - AT
Mass — volume
43, |9iad FRR @1 SUGNT UY Q9 & ol &oll & SO0 & | A, FHIAIR / Parallel
oG TR g § S e .. BT B. 9% - &7/ Co-axial
Bevel gear is used to transmit power between shafis| ¢ % %101 4R/ At an angle
which are D. SWEd # I FTE 5!
None of the above
44, |<ig Forge 99 BSTr o 3R TWTE b § BT MGG | 4 iR
B! L
....... A
'Volume of a cone of base radius ‘r* and height ‘h*is | B. m; :
C. nréh
nrih
D. —
45. | ameEy H RifrdifRe ... 71
In drawing, cylindricity is represented as Ol 01
B. @]o1 | A
¢ dlo1{a
D. Ly| o1
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Q. No. Question Answer Options
46.  |Frafeiea wrl 7 § i ®w waxd sa AT S A 2w
ferg fopar ST B Titanium
Machining of which of the following material requires| B. SFRIH el
less cutting force Stainless steel
- C. SegHMH
Aluminum
D. e gl
Cast iron
47. W s o1 fgrarg 1 A. AR aw
Brass is an alloy of Tin & copper
B. 3egHHH g THRIH
Aluminum & Magnesium
C. R Niw
Copper & zinc
D. feqafeiw
Tin & Zinc
48, (9T fsa HTfag HI0L...... B A. 90°
The point angle for a standard drill is B. 118°
C. 108°
D. 125°
49, ﬁm@aﬁﬁm@wﬁaﬁ(@%ﬁ B T A, @S ad
fafr 7 SuzRT =1t fobar o weal © Mineral oil
Which of the below lubricant cannot be used in splash| B. 9/ Grease
method of lubrication C. gt (ﬁl:aﬁfﬁ) qd
Synthetic oil
D. Uit 7 (AT do)
- Animal oil
50. 500 ASHM ......... & GHH B A. 0.2 5l /mm
500 microns is equal to B. 0.2 ¥.Hl/cm
C. 0.5 ffdt/mm
D. 0.5 ¥ 4di/cm
51, |6° F T H forae Adsa g A. 21600
How many seconds are there in an angle of 6° B. 1800
C. 18000
D. 2160
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Q. No. Question Answer Options
52, |U® TRIE R YEIH S8 WAF & 91 A B 9611 A, BRI/ Facing
I B B. YW T/ Taper turning
An operation on lathe where the diameter is increased! ¢, Jfaf/ Reaming
after operation is D. &AM/ Knurling
53, |U @UE o 98 WR 240 i dl w1 g 95 S=an| A, 60fHL/mm
T oI ) TG R TPl Bl B. 120 A H /imm
A lathe having a swing over bed of 240mm can| C. 240 f#lL/mm
accommodate a component of maximum diameter| . 480 &t /mm
equal to
54, | 505002 B TEAETR) oo 3 A 0.02
+0.01 B. 0.04
Tolerance of 50-0.02 is C. 0.01
D. 0.03
55, |3 OaE R, & GRT W DI Sl g A. TFT/ Turning
High surface finish is obtained by B. 8T/ Milling
C. WEIET/ Grinding
D. ot/ Lapping
56. |[f@d DR @ TR PT WM SAGT PRI H A Il A, % @axT/ Centre lathe
H B. &9 a3/ Bench lathe
Which type of lathe is used for production work C. 3JUEh? FE W33/ Tool room
lathe a
D. U @ gi¢ WaxT/ Capstan
and turret lathe
57, |Fafafad # § e TEdewd JediEioR) § A pETot
Which of the below is a bilateral tolerance ' +0:1
B. 25+0.2
+0.1
C. 25-0z
+0.0
D, 25+0.2
58. fEfea & S 99 9 HoR SR 9yl 81 A. HSS
Which of the below is the hardest tool material B. &Talgs/ Carbide
C. T / Ceramic
D. 8RT/Diamond
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Q. No. Question Answer Options
59.  |F% vereH § 9 o | 9= fis 4 Enigal A. g3 HRA
Which of the below operation requires higher spindle Thread cutting
speed ' B. &I/ Boring
C. Qof&'FT!Reaming
D. <ty Tapping
60. | 100 . o @t B & Sl T A T O ofde; AL 20 W dl/mm
fpat Iapaliie! ¥Ha §, Sl 80 AL = &1 | B. 10 MHl/mm
foba 7 gpar g C. 5 od/mm
D. 15 Adt/mm

In eccentric turning of a rod of 100 mm diameter,
what is the maximum possible eccentricity at which a
diameter of 80 mm can be turned

I% gbh /Rough work
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X aé/Rough work
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Wﬁé/Rough work
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